INTERMEDIATE EXAMINATION - 2022 (ANNUAL) 323

I. A. (TH)
T ;3 He 15 e qUiie — 70
Time :- 3 Hours 15 minutes Geography (Elective) Full marks - 70
qma (QRe®)

A YE DT GE&AT : 70+20+6=96

Total No. of questions : 70+20+6=96

ghenrfefat’ & fore [A3r -

Instructions for the candidates :

1.

RIeeff ITR S W YT U YRAST HHID (10 AT &) a9y ford |
Candidate must enter his/her Question Booklet Serial No. (10
Digits) in the OMR Answer Sheet.

oRleTTeff ALY 37U TRl H T IR G |

Candidates are required to give answers in their own words as far

as practicable.

qIfeN IR BRI W & gU ofd gunies fifde ava 2|
Figures in the right hand margin indicate full marks.

Ue UF P AMYdd Ugd @ oy wienRial e 15 fee &1 srfaRed

SLEEACUIRIDIES

Extra time of 15 minutes has been allotted for the candidates to
read the question paper carefully.

IE YTI-UF § TUSi H ® : WUS—3 UG EUs—9 |

This question paper has two sections : Section-A and Section-B.
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Gue—3f H 70 IXITS U & T I Bl 35 Ul & IR 7 © | 35
geHl & MfF FHT SR < W ULH 35 ITRI BT B Hedidhd BN | UAD

g & foru 1 3 fAuiRd 21 Sudel &’ T OMR SR U9d H

g fAdey & et/ Tt 97t U9 | U6 dx | ol ff UoR &

ERCR / WA w1 / =8 / -gA e & OMR IR =96 H
TR HRAT F4T1 8; 3T URUITH M= 8T |

In Section-A, there are 70 objective type questions out of which
any 35 questions are to be answered. If more than 35 questions
are answered, only the first 35 answers only will be evaluated.
Each question carries 1 mark. Darken the selected circle with blue
/ black ball pen on the given OMR Answer Sheet. Do not use
Whitener / liquid / blade / nail etc on OMR Answer Sheet,
otherwise the result will be invalid.

Gus—g H 20 Y IAI YA & FoH I fbl 10 U & IR S T |
UR% e & oY 2 i MEiRT €| s9o AfdRed s wve # 6 g
IR U & RoH 9 Bl 3 UeHl & SR o 2| Ud U & oIy 5
i feifRa 21

In Section-B, there are 20 Short Answer Type questions out of
which any 10 questions are to be answered. Each question carries
2 marks. Apart from these there are 6 Long Answer Type

questions in this section out of which any 3 questions are to be

answered. Each question carries 5 marks.



¥l YR & Seldei-d SUBRUT BT YANT guiadm aioid 2 |

Use of any type of electronic appliance is strictly prohibited.

TYus—31 / Section-A

axqf~ss 931 / Objective Type Questions

Jo GRAT 1 ¥ 70 db & 1Y IR Aheg for v & 99 9 R v 98) 21 omH

gRT g ¥ fiwed &1 OMR SR gRasr R fafkd & | 1% 35 Uel & IR <A

=

(35x1=50)

Question Nos. 1 to 70 have four options out of which only one is correct.

Mark your selected option on the OMR Answer Sheet. Only 35 questions are

to be answered. (35x1=50)

1.

afITaare HeheudT BT Ufaure+ feaa- fhar ?

(A) srewe femiforat (B) 3rhs 3o

(C) fafther e (D) Hfy¥d Yeore
Who propounded the concept of Neo determinism ?
(A) Albert Demangeon (B) Alfred Hettner
(C) Griffith Taylor (D) Friedrich Ratzel
f=forRad # 9 B9 A9 el BT SURTH &1 § 2

(A) e ETeT (B) weRre Rrzeryor
(C) & fapreT (D) A=THS sHifcy

Which of the following is not an approach in Human geography ?
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(A) Spatial organisation (B) Regional analysis
(C) Areal differentiation (D) Quantitative revolution

fhas @I, “AMG e ReR gl R fharfiar AMa & 4
aRad-elie Fva=il &7 eI 7 |
(A) Rex (B) Yeord

(C) TerR (D) T ¥ A

Who said, “Human geography is the study of the changing
relationship between the unresting man and the unstable earth.”
(A) Ritter (B) Ratzel

(C) Taylor (D) Ellen C. Semple

A e, 999 P & fha a5 &1 Iued g ?

(A) FTATTSTD YT (B) STERAT 1T

(C) snfdies st (D) IroTeiife et

Military geography is a sub-field of which field of Human
geography?

(A) Social Geography (B) Population Geography

(C) Economic Geography (D) Political Geography

FfeRad 9 9 9 &3 Fod SaaEeT drefl § ?

(A) THERETT T (B) gdra =

(C) Toerei & (D) =feyor gg gfRrn

Which of the following is a densely populated region ?



(A) Equatorial region (B) Polar region
(C) Desert region (D) South East Asia
frfeRad & &9 SH—IHFaRYT &7 ey dRE T8 § ?

(A) Sreafores gfdemd (B) SRS
(C) werATRat (D) STerTTe

Which of the following is not a push factor of human migration ?

(A) Educational facilities (B) Unemployment
(C) Epidemics (D) Water shortage
SHE gig aR Haifdd &

(A) 3BT H (B) wRrar %

(C) SR smRer # (D) zfaror smRepT #

The highest growth rate of populatin is in :

(A) Africa (B) Asia

(C) North America (D) South America
1650 30 H fawa &1 ST o

(A) 50 TS (B) 60 TS

(C) 70 XIS (D) 55 @RIS

In 1650 A. D. population of the world was :

(A) 50 crores (B) 60 crores

(C) 70 crores (D) 55 crores



10.

1.

fFrfoRad | § @ S & wrRile oy av @ gl

P B 7
(A) 15 ¥ 65 (B) 18 ¥ 60
(C) 18 ¥ 62 (D) 15 & 59

Which of the following figures represents the working age group of

population ?
(A) 15to 65 (B) 18 to 60
(C)18to 62 (D) 15 to 59

fFeferRad <ol | e fov srgura fava ¥ waiee & ?

(A) FgFd 3RT IJHERTT (B) <iefaan

(C) wre (D) Sirars

Which of the following countries has the highest sex-ratio in the
world ?

(A) United Arab Emirates (B) Latvia

(C) France (D) Japan

N ON (N

FrforRad & @19 99 A qadid & Ad § ?

(A) TRy (B) e
(C) w9l 9o ugd (D) Swjaa |+l
Which of the following is a measure of Human Development

Index?

(A) Health (B) Education



12.

13.

14.

(C) Access to resources (D) All of the above

fr=ferRaa fagml # fvee Aa fdera geaaie ufaurfad fear g 2

(A) Rex (B) W0 3\ 4

(C) fo ATqEI—IA—TD (D) 30 <o A

Who among the following scholars has determined Human
Development Index ?

(A) Ritter (B) Prof. Amartya Sen

(C) Dr. Mahbub-ul-Haq (D) E. C. Semple

AMa fde gaaie d 9w & F=faRaa qen 4 feaer aife Swaq
8?

(A) ATd (B) sffesforar

(C) rewets (D) ST

Which of the following countries of the world has the highest rank

in the Human Development Index ?

(A) Norway (B) Australia
(C) Netherlands (D) Germany
BT e

(A) fafsrT gfa (B) g WIf¥HT
(C) Rmavr FHfy (D) gedreaTe

Growing of flower is called :

(A) Mixed farming (B) Truck farming



15.

16.

17.

(C) Plantation farming (D) Floriculture

(A)®4 ¥ (B) STH® 3
(C) Hirexele # (D) 9=a #

Co-operative farming has been more successful in :
(A) Russia (B) Denmark
(C) Netherlands (D) India

fa=forRaa & &9 9o B & ?

(A) xS (B) ¥

(C) st (D) 7§
Which of the following is a plantation crop ?
(A) Rubber (B) Rye

(C) Maize (D) Wheat

fFraforRad # ot da—<sd Ry ff ®ed 8 ?

(A) wer frafz Y (B) AT f

(C) snfew frai ofY (D) faf¥ra &y

Which of the following is also called slash-burn agriculture ?
(A) Intensive subsistence farming

(B) Plantation farming

(C) Primitive subsistence farming

(D) Mixed farming



18.

19.

20.

21.

fFrferRad o o fgdiae aiie fhaream & ?

(A) T (B) sme

(C) =R (D) ©iIe wrer

Which of the following is a secondary economic activity ?
(A) Farming (B) Hunting

(C) Trade (D) Iron smelting
fFr=ifeiRad & @i By smenRa e & ?

(A) drHe SET (B) @ilgT—3Td e

(C) =T SEmT (D) S ST

Which of the following is an agro based industry ?

(A) Cement industry (B) Iron and steel industry
(C) Leather industry (D) Jute industry
fF=ferRad # @19 99 menRa e & ?

(A) BRI T (B) Hrre ST

(C) =HST SET (D) Terh ST

Which of the following is a forest based industry ?

(A) Paper industry (B) Cement industry

(C) Leather industry (D) Sulphur industry

G fhardhey B :
(A) Trarfi® (B) fgdias
(C) Fia® (D) agd®



22.

23.

24,

Mining activity is :

(A) Primary (B) Secondary
(C) Tertiary (D) Quaternary
fferRaa 9 o9 d=H fhanday & ?

(A) Th (B) smare

(C) =amr (DEIEBEIRE
Which of the following is a quinary activity ?
(A) Farming (B) Hunting

(C) Trade (D) Outsourcing

Yo T & SITel 6l go-dd o-cd © -

(A) & # (B) 9= #

(C) Sto+r o (D) |y 15T IHARBT H

The highest density of railway network is in :

(A) China (B) India

(C) Germany (D) United Sates of America

g8e ¢ AN R ©

(A) Q0 Jcdifcd Fgal A7 ¥ (B) YAIIR—{e=< AR AN |
(C) STHRI 3T AN | (D) B0 U= HHA! AR |

Great Trunk Route is related to :

(A) North Atlantic Ocean route

(B) Mediterranean — Indian Ocean route

10



25.

26.

27.

28.

(C) Cape of Good Hope route

(D) North Pacific ocean route

fr=feTRad 9 @19 sfiaRe Fg«l < 78l & 2

(A) PreTT (B) HTerex

(C) ¥ (D) #fPpw

Which of the following is not an inland sea port ?
(A) Kolkata (B) Manchester
(C) Athens (D) Memphis
IR fd UBR &1 9 7 ?

(A) fa&gd o< (B) arforisges o<
(C) alenfire o= (D) 378 | BIg T2
Which type of port is Leningrad ?

(A) Comprehensive port (B) Commercial port

(C) Industrial port (D) None of these

feq AR WIS BT AT Fal &7
(A) Sar (B) farrT
(C) =g (D) arf¥fired

Where is the headquarters of World Trade Organization ?

(A) Geneva (B) Vienna

(C) New York (D) Washington

el Sl SilsdT ©
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29.

30.

31.

(A) URE &1 dieq | (B) dicd @I afeid |
(C) afei &1 ulRe 4 (D) SRITAT BT afed &
Channel Tunnel connects :

(A) Paris with London (B) London with Berlin

(C) Berlin with Paris (D) Barcelona with Berlin

fr=ferRaa gferor smRaT T & I 3Ud & A © ?

(A) fereft BEEIS

(C) U (D) areggen

Which of the following South American countries is a member of
OPEC ?

(A) Chile (B) Brazil

(C) Peru (D) Venezuela

oife smRe e TR (LAIA) &1 9earerd b8l & ?

(A) STbra (B) fiiep

(C) wocfafea (D) gorew

Where is the headquarters of Latin American Integration
Association (LAIA) ?

(A) Jakarta (B) Minsk

(C) Montevideo (D) Brussels

fFeferRad amfefes foharmall # @i grfior ifderdl | wfed © ?

(A) Trrfas (B) fg<irae
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32.

33.

34.

(C) T (D) =rgei®

Which of the following economic activities is associated with rural
settlements ?

(A) Primary (B) Secondary

(C) Tertiary (D) Quaternary

frferRaa # @19 sienfiTes TR & ?

(A) fed (B) faewent
(C) BT (D) RiTgR
Which of the following is an industrial town ?
(A) London (B) Pittsburgh
(C) Canberra (D) Singapore

fa=forRaa & 9 19 s2nfoar & Ioa © ?

(A) DR (B) gt
(C) 3114 3fdren (D) R

Which of the following is the capital of Ethiopia ?

(A) Canberra (B) Lusaka
(B) Addis Ababa (D) Nairobi
fFe=rferRad # 19 uRasd TR € ?

(A) fRmmgR (B) Hareh
(C) was (D) st

Which of the following is a transport town ?
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35.

36.

37.

38.

(A) Singapore (B) Mecca

(C) London (D) Beijing
fr=ferRaa 9 @9 s TR & ?

(A) DeaRT (B) @ER

(C) &rame (D) 379 & Bl el

Which of the following is a planned city ?

(A) Canberra (B) Lahore

(C) Dhanbad (D) None of these
g AT gRaR T S G B © 7

(A) =fas (B) sz

(C) TR (D) = —feracht

Which linguistic family has the lowest population ?
(A) Dravid (B) Austric

(C) Indian-European (D) Sino-Tibetan

2011 B SIRTVET & IR AR BT ST Tcd o

(A) 382 fdq /a°t fopet (B) 282 fda /ot fopet

(C) 402 @afad /a¥f fai (D) 328 @fad /4% fait

As per 2011 cencus, the density of population of India was :
(A) 382 persons/Sq. km (B) 282 persons/Sq. km

(C) 402 persons/Sqg. km (D) 328 persons/Sq. km

2011 DI SIVET & AJAR IRA & [ I B TR TG4 BH 57
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39.

40.

41.

(A) STTTele (B) wforgR
(C) fafams (D) 3rHUIM=rd U<el

As per 2011 census, which state of India has the lowest

population?
(A) Nagaland (B) Manipur
(C) Sikkim (D) Arunachal Pradesh

2011 @I SIRTUET & JJAR fhd IS B SEEIT Bl bcd AdIfSh &7

(A) HERTSE (B) faeR

(C) &l (D) uf¥=m §me

As per 2011 census, which state has the highest density of

population ?
(A) Maharashtra (B) Bihar
(C) Kerala (D) West Bengal

fha I5g # |aifde dw@r § snyardt o € ?

(A) IR T (B) HERTS

(C) fesrR (D) wiic®d

Which state receives the maximum number of immigrants ?
(A) Uttar Pradesh (B) Maharashtra

(C) Bihar (D) Karnataka

IRA H Y&Y YA DI TS 9T ©

(A) ITIT TR (B) g & urior
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42.

43.

44.

(C) ImfIoT 3 ITHIOT (D) TR | TR
The main stream of male migration in India is :
(A) Rural to urban (B) Urban to rural

(C) Rural to rural (D) Urban to urban

AMg fde™ gadie d R & HEfaRad It § | feEar dife

Ioadq © ?
(A) USTTe (B) sRamm
(C) affrerrg (D) @R

Which of the following states of India has the highest rank in
Human Development Index ?

(A) Punjab (B) Haryana

(C) Tamil Nadu (D) Kerala

fFreferRad owx e <ol # & a1 AeRa-<) Seaad & ?

(A) TSN TS (B) 3feA™ 3R MdER
(C) 7o 3R da (D) @y

Which of the following Union territories has the highest literacy

rate?
(A) Chandigarh (B) Andaman and Nicobar
(C) Daman and Diu (D) Lakshadweep

fa=forRag 7RI § 9 19 9<) de W Irafed 81 8 ?
(A) 3TTRT (B) referel
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45.

46.

47.

(C) e (D) Haret

Which of the following cities is not situated on river bank ?

(A) Agra (B) Kolkata
(C) Patna (D) Bhopal

N ON (N

fr=forRad & 9 W9 TR & ?

(A) 7T (B) starem
(C) RiTreh (D) WERTgR
Which of the following is a mining town ?
(A) Mathura (B) Ambala

(C) Singrauli (D) Saharanpur

gRd shifd gwfd 2

(A) @ SdTe | (B) T IUTET A
(C) o1 Seure @ (D) T & FIE T
Green revolution is related to :

(A) Food grain production (B) Tea production
(C) Milk production (D) None of these
ffeTRaT 9 P19 WIER Badl T8l § ?

(A) 52 (B) ®urs

(C) Brwr (D) #==T

Which of the following is not a fibrous crop ?

(A) Jute (B) Cotton
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48.

49.

50.

51.

(C) Coffee (D) Mesta
fer=forRaa wrsat & o9 9 SdIed T8l © ?

(A) Bve (B) 379
(C) uf¥Fs qwme (D) <ToTRRIE
Which of the following states is not a tea producer ?
(A) Kerala (B) Assam

(C) West Bengal (D) Rajasthan
f=ferRad # @19 @rer & ?

(A) =T (B) il

(C) T (D) gp<x
Which among the following is a foodgrain ?
(A) Sugarcane (B) Coffee

(C) Maize (D) Sugarbeet

N ON (N

fferRad Il § B9 HUT SATEH 8l & 7

(A) Torrd (B) &Rz

(C) 3m=I U< (D) f&vmaer ueer

Which of the following states is not a cotton producer ?
(A) Gujarat (B) Haryana

(C) Andhra Pradesh (D) Himachal Pradesh
f=forRad & &9 9RT BT a9 a1 IS ISR © 7

(A) TH0 TDo0 27 (B) TH0 TH0 44
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52.

53.

54.

(C) 790 T=0 6 (D) 37 | BIg 2

Which of the following is the longest National Highway of India ?

(A) NH 27 (B) NH 44

(C)NH 6 (D) None of these
A T

(A) ST T (B) 3roid e
(QEBEIERUIDISISE (D) 374 A PIg Bl
Water is :

(A) Biotic resource (B) Abiotic resource

(C) Non-renewable resource (D) None of these

P WRHR B RIS drotde” g § ¢

(A) I1g HREToT | (B) STet &ReToT |

(C) (A)3iR (B) <l & (D) &% & BIg T

Central Government’s “Hariyali Project” is associated with :
(A) Air conservation (B) Water conservation

(C) Both Aand B (D) None of these
fFTfeTRad | B9 ol BT SFADHRONT Al & ?

(A) T SHoft (B) STtz ol
(C) 9a+ Sl (D) AR il
Which of the following is non-renewable source of energy ?

(A) Thermal energy (B) Hydel energy
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55.

56.

57.

58.

(C) Wind energy (D) Solar energy

RIS YRATSTAT 3fafkerd & :
(A) anfee # (B) BT |
(C) #ea gawr # (D) SRS

Hirakud Project is located in :
(A) Odisha (B) Chhattisgarh

(C) Madhya Pradesh (D) Jharkhand

fr=forRad wroat § foad SraxUR AMASRT Holl deg Iffaverd © ?

(A) HERTSE (B) Tlc®

(C) Iormd (D) RToTRer

In which of the following states is Kakrapar atomic power centre

located ?
(A) Maharashtra (B) Karnataka
(C) Gujarat (D) Rajasthan

TSl drar e fi sg # Rerg € °?

(A) 7T TS (B) IIRGS

(C) TorTa (D) <TSTRRIE

In which state is Khetri copper field located ?
(A) Madhya Pradesh (B) Jharkhand

(C) Gujarat (D) Rajasthan

dIpRT ST dg © -
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59.

60.

61.

(A) B3 &= 4 (B) it & #

(C) Trdwife & § (D) 378 | BIg 2
Bokaro steel centre is in :

(A) Mixed sector (B) Private sector
(C) Pulic sector (D) None of these

fr=forRad e wWa™ § B9 IIREs ¥ 81 § 7

(A) AHRY (B) e
(C) s (D) RiTRIH

Which of the following coal mines is not in Jharkhand ?

(A) Bokaro (B) Giridih
(C) Jharia (D) Singrauli
fFre=iferRaa =i § 9 e o ug@ a1 & Rerd & 2

(A) TSR (B) faeR

(C) srem (D) aferTrg

In which of the following states are the major oil fields located ?

(A) Rajasthan (B) Bihar

(C) Assam (D) Tamil Nadu
7% 3fenfire AT B G B @5 TE ?

(A) 1981 (B) 1991

(C) 2001 (D) 1993

When was the new industrial policy announced ?
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62.

63.

64.

(A) 1981 (B) 1991
(C) 2001 (D) 1993

FrfRad # @19 Sfieie eI 3T U™ RS © ?
(A) aToTR (B) o1

(C) St (D) g4 =

. Which of the following is the main factor of industrial location?
(A) Market (B) Capital

(C) Energy (D) All of these

YRA ¥ arg gRTs Ad1 &I YwaA gg ol

(A) 1947 H (B) 1911 #

(C) 1921 # (D) 1935 #

Air transport in India was introduced in :

(A) 1947 (B) 1911

(C) 1921 (D) 1935

F=feTRad # 19 qd Heg Neld Hedl Bl AT © °

(A) SaTTETaTa (B) rerrar

(C) TMREgR (D) BTSiIgR

Which of the following is the headquarters of East-Central Railway
zone ?

(A) Allahabad (B) Kolkata

(C) Gorakhpur (D) Hajipur
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65.

66.

67.

68.

IIR—EIRIOT TTTIRT ST &

(A) S BT fawdT=<IgRd | (B) IR Bl HATHART A
(C) SR &I HATHANT A (D) SR &I ATR®IZA A
North-South Corridor connects :

(A) Jammu with Thiruvananthapuram

(B) Baramula with Kanyakumari

(C) Srinagar with Kanyakumari

(D) Srinagar with Nagercoil

THIRT T Rerd 7 -
(A) I H (B) dferTS H
(C) priicd # (D) arier wewr

Tuticorin port is located in :

(A) Kerala (B) Tamil Nadu

(C) Karnataka (D) Andhra Pradesh
37 I8t BT HROT ¥

(A) STet IguoT (B) eaf+r wrgmor

(C) arg s (D) ¥ w5
Cause of acid rain is :

(A) Water pollution (B) Noise pollution

(C) Air pollution (D) Land pollution

2010—11 # fA=forRad & & &I YR &1 e g8 ARG 9RfIgR oO7?
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69.

70.

(A) STHA (B) =
(C) Jo 1o 50 (D) W0 M0 3MR&T

Which of the following was India’s largest trading partner in

2010-11 ?
(A) Germany (B) China

(C) UAE. (D) U.S.A.
eaf UGy & W A ©

(A) ST (B) Hrex ared
(C) eSsTIHR (D) 3775 & &

The main source of noise pollution is :

(A) Industry (B) Motor Vehicle
(C) Loudspeaker (D) All of these
Uiy 3R UHY HRE ITRGRT ©

(A) yard & fog (B) arg wguwr & ferg
(OREUESRIEAEN (D) 57 & =
Push and Pull factors are responsible for :

(A) Migration (B) Air pollution

(C) Slums (D) All of these
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Huvs—4 / Section-B

oY S 9349 (Short Answer Type Questions)

U W& 1 9 20 Y S 2| fHE 10 Ul & SR | IS U B folg 2
siw PrefRa £ (10x2=20)

Question nos. 1 to 20 are Short Answer Type. Answer any 10 questions.

Each question carries 2 marks. (10x2=20)

1, AMG T & IR SU—eA @ AW ford |
Name four sub-sectors of Human geography.

2, yarg | gwfd fesl g ufdey dRGT BT Seoikd B |

Mention any two push factors related to migration.
3. T A= | Y T |HSI § 2

What do you mean by sex composition ?
4 RO Gy B R AR el & A R |

Name any four crops of Plantation farming.

5. AEPN B a1 7 ?

What is co-operative farming?

6. a1 gqeled e fhardeldl &1 Seolkd DI |

Mention two quaternary economic activities.

7. HISIRWT Seve R ¢ ?

What is cyberspace internet ?
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10.

11.

12.

13.

14.

15.

16.

I Ud ReIfa & Ae 3R qaTy |
Distinguish between site and situation.
UR—b1STT AT Bl fbgl IR faRIvams & Seoid o |

Mention any four characteristics of Trans-Canadian Railway.

IR YEUT & WRI AIdl BT Ieeld B |
Mention the main sources of air pollution.

T HAd AR AT #fd H 3R T N |

Differentiate between main worker and marginal worker.

2011 @ SUFT & AJAR IR H & FUTH SERA] °9cd dlel Y
DI B ?

According to 2011 census, which are the two states having the
highest density of population in India ?

B ST Db TIMET DY bl STl &7

How is cropping intensity calculated ?

IR 9IRA H (a8 & 99 91d &1 § ?

What are the main sources of irrigation in north India?

SNl & AADHRONI AT BRI HIAT # IR WL PN |

Distinguish between renewable and non-renewable sources of

energy.

ORI @ IR UHE Gl 9 SN dal & aH (o |

Name four main centres of cotton textile industry of Gujarat.
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17.  WIAE & MR R &N B I Thd I |

Classify industries on the basis of ownership.

18. U SR OIS § 3R 9aTsv |

Distinguish between port and harbour.

19. A SERT 99 ST /Y 8 7

Why is sugar industry a seasonal industry ?

20. TR ¥ 3MY T FHI § P

What do you mean by land degradation ?

e Sa9g 939 (Long Answer Type Questions)

9T I 21 W 26 <Y IR 2 | Bl 99 U & SR © | U U B forv 5
s PiRe € | (3x5=15)

Question nos. 21 to 26 are Long Answer Type. Answer any 3 questions.

Each question carries 5 marks. (3x5=15)

21. U7 S @ faRivdrel &1 qui= iy |

Describe the characteristics of Plantation agriculture.

22. SHIfhd I GhavT g &l fad=@r HIfoTu |

Discuss Demographic transition theory.

23,  9Rd & 3My® fderd H Yedd & Y I fad=a=r Sy |

Discuss the role of railway in the economic development of India.

24. YRT # I &b Iured Uq fadeor o1 faaxor S |
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25.

26.

Give an account of production and distribution of tea in India.

R § o Il &3 & fadRor &1 goia Hifu |
Describe the distribution of mineral oil fields in India.

qRT BT A 180 iR =ferRad o1 yefRig Hifv :

(A) URTST (B) waelt
(C) BgR (D) dre T
EARERE

Draw a map of India and show the following :
(A) Paradip (B) Neyveli
(C) Kanpur (D) Bodh Gaya

(E) Mahanadi
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